[ Efficiency vs vertpos |

.................................................

1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom
~ 0.5

So.45
2 04
035
0.3
0.25
0.2
0.15
0.1
0.05

q

0.8

efficienc

Ratio

0.6 Pech- :
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>
0.0.45
S
o 04
£0.35
0.3
20.25
0.2
0.15
0.1
0.05]

gt
P SO SO 1 SR SO SUURNE U (RSSO

Ml

-20 =15 =10 5551520
Sim. PV z (cm)

y

)
c
9
:1:

Ratio




	Contents
	Page 1


